GI=A=sTW

GY)=R=Zvy7N AR

@AZ! (SUS303)
T T = i &
o\ e BF  [oom[toe]somie] -

A\, | A-1/8PT-SUS 560 | 475| 420 20

Bl A-1/4PT-SUS 1125| 955| 845| 25
=4 | A-3/8PT-SUS 1,875 | 1,595 | 1,400 | 25
EE; o A-M6x1.0-SUS | 450| 380| 340 135
T A-M6 X 0.75-SUS | 450| 380 340 135
A-UNF-1/4-SUS | 450| 380 340| 135
OARY (FHEHAY M) QAR & (Fdk )

=] ﬂﬁ H = m H

il 1~ | 10~49f8] s0BbE| - S 1~ | 10~49f8 50EHE| -
A-1/8PT-M JIS 77] 65| 58] 20 A-1/8PT JIS 73| 62| 55|20
A-1/4PT-M JIS 185| 155| 140| 25 A-1/4PT JIS 180| 150| 135| 25
A-1/8PF-M 63| 54| 47| 145| [A-1/8PF 60| 51| 45| 145
A-1/4PF-M 135| 115| 100| 20 A-1/4PF 125| 105| 94|20
A-3/8PT-M 245| 210| 185| 25 A-3/8PT 240| 205| 180| 25
A-M6 X 1.0-M 60| 51| 45| 142| [A-M6x1.0 57| 48| 43| 14.2
A-M6 X 0.75-M 60| 51| 45|135| [A-M6x075 57| 48| 43| 135
A-UNF-1/4-M 63| 54| 47|135| |A-UNF-1/4 60| 51| 45|135

9V)=—A=v7)y BE
@BZ! (SUS303)
T LA . s it ] - m H
: & & 1~ | 10~40f8 s0bE| -
v § | B-1/8PT-SUS 750 | 640| 560 21
] B-1/4PT-SUS 1,500 | 1,275 | 1,125 | 24.5
. B-3/8PT-SUS 2,250 | 1,910 | 1,690 | 27
%} B-M6x1.0-SUS | 940| 800| 710] 17
e B-M6x0.75-SUS | 940| 800| 71017
B-UNF-1/4-SUS | 940| 800| 710] 17
@BE! (FHiXv*f) OBZ! (EiR4H)

o i & = i &

S 1~ | 1049 S0BbE| - i 1~ | 10498 50BHE| -
B-1/8PT-M JIS 125 105| 95| 21 B-1/8PT JIS 120 | 102| 90| 21
B-1/8PT-M 107| 91| 80|16 B-1/8PT 103| 88| 77|16
B-1/4PT-M 230| 195| 175| 24 B-1/4PT 25| 190| 170 24
B-3/8PT-M 35| 275| 245| 25 B-3/8PT 320| 270| 240| 25
B-M6 x 1.0-M 103| 88| 77|165| [B-M6x1.0 100| 85| 75| 165
B-M6 X 0.75-M 103| 88| 77|165| [B-M6x0.75 100| 85| 175|165
B-UNF-1/4-M 103| 88| 77| 165| |B-UNF-1/4 100| 85| 175|165

SMP40

61



GI=A=sTW

GY=A=—vy 7N CH

@CZ! (SUS303)
f e i &
=
el 2 1~ | 10~49f8 50AE| -

) ! , C-1/8PT-SUS 750 | 640| 565| 21

=] C-1/4PT-SUS 1,500 | 1,280 | 1,130 | 24.5

& J C-3/8PT-SUS 2,250 | 1,910 | 1,690 | 27

a%ﬁ C-M6x1.0-SUS | 940| 800| 710| 18

e C-M6x0.75-SUS | 940| 800| 710] 18
C-UNF-1/4-SUS | 940| 800| 710| 18
OCE! (FEHAv*1T) OCE! (Fif4EH)
i & i &

=] =]

il 1~ | 10~49f8] s0BbE| - S 1~ | 10~49f8 s0EHE| -
C-1/8PT-M JIS 125| 105| 95| 21 C-1/8PT JIS 120 102]| 90[ 21
C-1/8PT-M 107] 91| 8of16 C-1/8PT 103| 88| 77|16
C-1/4PT-M 230| 195| 175| 24 C-1/4PT 25| 190| 170| 24
C-3/8PT-M 325| 275| 245| 25 C-3/8PT 320| 270| 240| 25
C-M6 X1.0-M 103| 88| 77|165| [c-Mex1.0 100| 85| 75| 165
C-M6 X 0.75-M 103| 88| 77|165| [c-Mex0.75 100| 85| 75| 165
C-UNF-1/4-M 103| 88| 77|165| |[C-UNF-1/a 100| 85| 75| 165

& 'S &

4 \9 7 ’\“/ I“
@K%Yk (SUS303)
i &
=
T, — - 1~9ff [ 10~49f] sofEsit| -
4 i BH-1/8PT-SUS | 1,820 | 1,550 | 1,370| 18

N o 4 EJ BH-1/4PT-SUS | 2,180 | 1,850 | 1,630 | 21

X BH-3/8PT-SUS | 2,730 | 2,320 | 2,050 | 22

g HEX BH-1/2PT-SUS | 5,620 | 4,770 | 4,210| 24

(ZTEE)
@ Ra YR (EFAYFT) @ KRA AU (EiHEH)
i #& i &%

= =

S 1~ | 1049 S0BbE| - i 1~ | 10498 50BHE| -
BH-1/8PT-M 165| 150| 130| 18 | [BH-1/8PT 155 | 140| 125| 18
BH-1/4PT-M 175| 160| 140| 20 | |BH-1/4PT 170 | 155| 135| 20
BH-3/8PT-M 240| 215| 190| 20 | [BH-3/8PT 230 | 205| 185| 20
BH-1/2PT-M 655| 590| 525| 23 | |BH-1/2PT 640 | 575| 510| 23

SMP40

62





